Tricked out maths

Work out the answers to the sums below and each answer will reveal a letter.
Once you've matche the answers with their letters, you'll get the answer to our
April Fools' Day joke.

What happened to the foolish tap dancer?

4.14+7= 8.20-2 10.14-7= 13.2+6=
5.15+7= 9. 20-7 1. 25-6= 14.9+9=
6.9+6= 12. 30-8= 15. 8+45=
7.5+10= 16. 749=

[ ] ®
4
{ )
A= 26,B= 25, C=24,D=23,E=22,F=21, G=20,H=19, |=18, J=17, K=16, L= 15, kldspﬁt

M=14, N=13, 0= 12, P=11,Q=10,R=9,S= 8, T= 7, U= 6, V= 5, W=4, X= 3,Y=2,z=1  Your kids.Your life.




